## WEST BENGAL MEDICAL SERVICES CORPORATION LTD

(Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09

## Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake

Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

Name of work: Setting up of partition wall at store area of NHM in 8th floor of Swasthya Sathi Building

## **NOTICE INVITING TENDER**

**Bid Reference No: WBMSCL/ NIT- 113/2025 Dated – 10.02.2025** 

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata - 700091, invites sealed quotation from agencies for the work "Setting up of partition wall at store area of NHM in 8th floor of Swasthya Sathi Building". The details may be available at Notice Board of WBMSCL & website www.wbmsc.gov.in and to be submitted (offline) on or before 03:00 P.M. on 17.02.2025.

No of Site	1 no.
Estimated amount	Rs. 55,975.00
Bid Security/EMD	The bidder has to deposit earnest money Rs. 1,120/- (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd" payable at Kolkata).
Security Deposit	10% of the contract amount to be deducted from the Bill for each work.
Releasing of Security Deposit	One year from the date of completion of work
Tender Publication Date	10/02/2025
Last date of Submission of Tender	17/02/2025 Upto 3:00 PM
Date of Opening of Tender Document	17/02/2025 Upto 4:00 PM
Validity of tender	120 days from the date of submission of Tender
Time allowed for completion of Work	7 days
Bid opening Venue	West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29 , Sector – V, Salt Lake, Kolkata – 700091.

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid".

**Documents comprising the bid:** (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

#### The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST Registration no.
- c. IT Return acknowledgement for the assessment year 2024-25.
- d. Trade License

#### The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. (Annexure A) for work provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

Comparison of financial bid will be based on total amount quoted by the bidder for each work separately.

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation and / or price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfil the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/- **Managing Director** 

# Name of Work :

Setting up of partition wall at store area of NHM in 8th floor of Swasthya Sathi Building

B.O.Q.						
SI. No.	Description of Item	Unit	Quantity	Rate (incl. GST & L.Cess)	Amount (incl. GST & L.Cess)	Remarks
01	Supplying profiles of required section made of Aluminium Alloy Extrusions conforming to IS: 732-1983 and IS: 1285-1975; Annodized (with required film thickness and specified colour / natural) matt finished conforming to IS: 1868-1983 for fabrication of composit door, sliding & casement windows, partitions, formed of basic sections of any ISI embossed / certified make and brand as per direction of Engineer - InCharge.  (Payment will be made on finished length of the work).					
	9 F. L ee					
	j) Fixed partitions.  (Unsupported length of vertical member upto 1.5 mtr.  Height of both ends of vertical member restrained but panels within 0.9 sq.m.)					
	(A) In 10-12 Micron thickness Annodizing film					
	l) Natural white					
	i) Top , bottom & side member.	Meter	12.500	550.61	6882.65	
	ii) Intermediate member.	Meter	14.500	572.06		
	iii) Glazing clip.	Meter	57.200	54.82	3135.86	
	k) Movable door shutter.					
	i) Door frame. (Top & sides).	Meter	5.200	375.42	1952.17	
	ii) Shutter:		1.000	262.24	262.24	
	Top rail.	Meter	1.000	362.31	362.31	
	Bottom rail.	Meter	1.000	533.93		
	Lock rail	Meter	1.000	449.31	449.31	
	Door vertical.	Meter	4.200	395.68	1661.85	
02	Glazing cleap.  Wall panelling / partition with Melamine faced 3 layered	Meter	16.000	59.59	953.44	
02	flat pressed wood particle board of approved make and brand as per direction of Engineer - in Charge of requisite grade bonded with phenol formaldehyde synthetic resin conforming to IS: 848 - 1974 (excluding the cost of supporting frame work and teak wood battens / lipping)					
	(B) Prelaminated particle board conforming to IS: 3087 - 1985 and IS 12823 1990.					
	(ii) Both side decorative laminate					
	(b) Interior Grade					
	9mm thick	Sqm.	11.340	1040.44	11798.61	
03	Labour charge for fabrication and installation of composite door, window, partitions made from annodized extruded alloy aluminium sections for the following units:-	·				

B.O.Q.						
SI. No.	Description of Item	Unit	Quantity	Rate (incl. GST & L.Cess)	Amount (incl. GST & L.Cess)	Remarks
	(B) Partly glazed partly panelled or fully glazed single leaf alunminium swing door made of extruded and annodized alloy aluminium sections, fabrication including cutting to proper shape and size, drilling and aligning, fitted with heavy duty hydraulic action floor sping placed in the floor with mending damages, with top pin assembly of approve make and brand, fitted with in built locking arrangement, flush bolt, glazing clips and all other necessary fittings, fixtures, adhesives and joineries, cutting glass of approved make to requisite shape and size fitting with dry set neoprene or EPDM gasketing, cutting to requisite shape and size panel board (prelaminated particle block) fixing them with glazing clips as per drawing, specification and direction of Engineer in charge.					
	The rate includes the hire charge of all tools and plants, adhesive, joineries such as screw, cleat angle etc. but excluding the cost of extruded alumium sections, glass, panel boards neoprene / EPDM gasket, locking arrangement, weather gasket / wool pile, floor spring, top pin, handle, tower bolt, glazing clips etc. (10% rate reduction has to be made for swing doors or partitions where floor sping is not used. 10% enhancement of rate is to be made where door frame of extruded aluminium sections has to be fitted and fixed to masonry wall. 5% rate enhencement may be allowed for double leaf swing door. Payment shall be made for the shutter area only exept where door frame is fixed the entire opening shall be taken to consideration. Payment for door frame sections are to be paid seperately).					
	(D) Partly glazed and partly panelled partition or fixed glazing made of extruded and anodised alloy aluminium sections, fabrications after cutting to proper shape and size, drilling and aligning fitted with inbuilt locking arrangement cutting the glass / board (prelaminated / particle / block) to requisite shape and size moulding the edges fitted and fixed glazing clips and dry set neoprine /EPDM gasket, along with all other necessary arrangements for fixing the partition to walls, floors, beams, columns polysulphide sealant for water proofing if necessary complete in all respect as per drawing and specifications and direction of the Engineer in charge.	Sqm.	2.100	1660.18	3486.37	
04	I) For partitions using section of size:     b) 101.50mm x 44.45 mm     ii) Godrej Hydraulic door closer fitted and fixed complete. (b)	Sqm.	11.340	1194.18	13542.04	
	Medium type	Each	1.000	1984.35	1984.35	

B.O.Q.						
SI. No.	Description of Item	Unit	Quantity	Rate (incl. GST & L.Cess)	Amount (incl. GST & L.Cess)	Remarks
05	(B) Supplying 125 mm. Dia acrylic handle for Aluminium door as per approved make & brand.					
	(a) Natural Colour	Each	2.000	215.72	431.43	
06	Anodised aluminium butt hinges of approved quality manufactured from extruded section conforming to I.S. specification (I.S. 205/66) and fitted and fixed with cadmium plated screws					
	(v) 100 x 63 x 3.2mm.	Each	4.000	85.81	343.24	
07	Supplying, fitting and fixing Godrej Multi Lock or equivallent .	Each	1.000	162.08	162.08	
				Total	559 <i>7</i> 5.00	
	Quoted Percentage of rate (Above + )  Quoted Percentage of rate At Par  Quoted Percentage of rate (below - )					
	Quoted Rate in words :					

**Managing Director**